0115552

7112025

8212100 @

Order-nr. Description Number
0115551 |mountingtube for PE125 to Cosmos 1
0115552 |mounting ring for PE125 to Cosmos 1
7112025 |hexagon-head bolt M12x25 galv. 1
8212100 |hexagon nut M12 galv. 1

knee rail support PE125 for Cosmos cpl.

spinder

DAIRY HOUSING CONCEPTS

Number: 0115550-0
Unit: mm
Date: 17-11-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




1111210 %

7112025
8212500

Order-nr. Description Number
0321005 |lock for barrier gate kpl 1
0321020 |tube 48mm, length 2m 1
1111210 |floor anchor, hot dip galv. - M10x71 4
7112025 |hexagon-head bolt M12x25 galv. 1
8212500 |self locking nylon nut M12 galv. 1
quick release for Cosmos
I Number: 0115590-0
s p I I l e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 17-11-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

0455076

8210500

Order-nr. Description Number
0190312 |knee rail support for young stock 1
0455076 |threaded strap M10/48x75mm galv. 1
8210500 |self locking nylon nut M10 galv. 2
knee rail support 48mm complete

Number: 0190315-0
splncler ol
DAIRY HOUSING CONCEPTS Date: 10-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.

Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

ca. 1380

detail B(1:5)

knee rail support 48mm complete

spinder

DAIRY HOUSING CONCEPTS

Number: 0190315-A
Unit: mm
Date: 10-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

0456086

8210500

Order-nr. Description Number
0190311 |knee rail support 1
0456086 |threaded strap M10/60x90mm galv. 1
8210500 |self locking nylon nut M10 galv. 2
knee rail support 60mm complete

Number: 0190320-0
splncler ol
DAIRY HOUSING CONCEPTS Date: 10-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.

Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

ca. 250

ca. 1800

detail A(1:5)

p*

knee rail support 60mm complete

spinder

DAIRY HOUSING CONCEPTS

Number: 0190320-A
Unit: mm
Date: 10-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

0456086

8210500

Order-nr. Description Number
0190313 |knee rail support for Profit-AM 1
0456086 |threaded strap M10/60x90mm galv. 2
8210500 |self locking nylon nut M10 galv. 4

knee rail support for Profit-AM complete

spinder ..

Number:

0190330-0

mm

DAIRY HOUSING CONCEPTS Date:

10-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




ca. 245

detail A(1:5)

knee rail support for Profit-AM complete

spinde

DAIRY HOUSING CONCEPTS

Number: 0190330-A
Unit: mm
Date: 10-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

7110030
8210500

0456086

8210500

0190314

Order-nr. Description Number
0190314 |knee rail support for deep bedding 1
0418225 |mounting clip 125mm 1
0456086 |threaded strap M10/60x90mm galv. 1
7110030 |hexagon-head tap bolt M10x30 galv. 2
8210500 |self locking nylon nut M10 galv. 4

knee rail support PE125 for deep bedding

spinder ..

Number:

0190335-0

mm

DAIRY HOUSING CONCEPTS Date:

11-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




K]

0456086

8210500

0418225

Order-nr. Description Number
0190311 |knee rail support 1
0418225 |mounting clip 125mm 1
0456086 |threaded strap M10/60x90mm galv. 1
7110030 |hexagon-head tap bolt M10x30 galv. 2
8210500 |self locking nylon nut M10 galv. 4
knee rail support PE125 complete

l Number: 0190345-0
s p I I I e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 11-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




ca. 250

ca. 1800

detail A(1:5)

0190350

knee rail support 60mm complete

spinde

DAIRY HOUSING CONCEPTS

Number: 0190345-A
Unit: mm
Date: 10-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

7110030
8310100
8210500

7110030

8210500

Order-nr.

Description

Number

0190360

mounting clip for knee rail PE125

1

0190381

Z-support 15cm for knee rail

0428100

angle support 10x14cm

7110030

hexagon-head tap bolt M10x30 galv.

7112030

hexagon-head bolt M12x30 galv.

8210500

self locking nylon nut M10 galv.

8212500

self locking nylon nut M12 galv.

8310100

washer M10 (10x21x2)

R RINR| N R~

knee rail support 15cm for PE125, cpl.

spinder ..

Number:

0190380-O0

mm

DAIRY HOUSING CONCEPTS Date:

1-10-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




UK .
7110030 7110030 blad nr. 1:2

8310100 8210500 View A

8210500

ca. 250

crossing
ca. 41

7112030
8212500

XS

——1—Floor anchor M12x110

Not included wooden plank 275
(Thickness advice: min. 30 mm)

Not included
mounting wooden plank Order-nr. Description Number
0190360 |mounting clip for knee rail PE125 4
0190381 |Z-support 15cm for knee rail 4
0428100 |angle support 10x14cm 4
7110030 |hexagon-head tap bolt M10x30 galv. 8
7112030 |hexagon-head bolt M12x30 galv. 4
8210500 |self locking nylon nut M10 galv. 8
8212500 |self locking nylon nut M12 galv. 4
8310100 |washer M10 (10x21x2) 4
knee rail support 15cm for PE125, cpl.
Number: 0190380-A
spinder .
DAIRY HOUSING CONCEPTS Date: 27-8-2015
RO B B tvens op Hone teRINE. Ec Somn rachtam worden axtieand. | P anders wlze worden gebrul




M

blad nr. 2:2

- Side with two holes @13 mm mounting on the concrete.

- kneerail support for PE @125mm mount to the rear hole @11
( hole with distance 55 mm of the back side as shown).

- Kneerail support has a pitch of 100 mm.
the front hole of the support ends in the slotted hole.

- Mount the angle support with the long edge (144 mm) to the
kneerail.
Mounting angle support in first hole (see drawing).

knee rail support 15cm for PE125, cpl.

Number: 0190380-A
spinder .. .
Date: 27-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

7110030
8310100
8210500

7110030

8210500

Order-nr. Description Number
0190360 |mounting clip for knee rail PE125 1
0190385 |Z-support 20cm for knee rail 1
0428100 |angle support 10x14cm 1
7110030 |hexagon-head tap bolt M10x30 galv. 2
7112030 |hexagon-head bolt M12x30 galv. 1
8210500 |self locking nylon nut M10 galv. 2
8212500 |self locking nylon nut M12 galv. 1
8310100 |washer M10 (10x21x2) 1

knee rail support 20cm for PE125, cpl.

spinder

DAIRY HOUSING CONCEPTS

Number: 0190384-0
Unit: mm
Date: 2-10-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

7110030

7110030

8310100
8210500

8210500

7112030
8212500

Not included wooden plank
(Thickness advice: min. 30 mm)

Not included
mounting wooden plank

331

crossing
ca. 41

blad nr. 1:2

View A

—Floor anchor M12x110

XS

Order-nr.

Description

Number

0190360

mounting clip for knee rail PE125

4

0190385

Z-support 20cm for knee rail

0428100

angle support 10x14cm

7110030

hexagon-head tap bolt M10x30 galv.

7112030

hexagon-head bolt M12x30 galv.

8210500

self locking nylon nut M10 galv.

8212500

self locking nylon nut M12 galv.

8310100

washer M10 (10x21x2)

MDD OO MO D

knee rail support 20cm for PE125, cpl.

spinder ..

DAIRY HOUSING CONCEPTS Date:

Number:

0190384-A

mm

27-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

blad nr. 2:2

- Side with two holes @13 mm mounting on the concrete.

- kneerail support for PE @125mm mount to the rear hole @11
( hole with distance 55 mm of the back side as shown).

- Kneerail support has a pitch of 100 mm.
the front hole of the support ends in the slotted hole.

- Mount the angle support with the long edge (144 mm) to the
kneerail.
Mounting angle support in first hole (see drawing).

knee rail support 20cm for PE125, cpl.

Number: 0190384-A
spinder .. .
Date: 27-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




7110035
8210500

TT 7110035
| TT 8310100
o 8210500

0190362

7112030
8212500

0190385

Order-nr. Description Number
0190362 |mounting clip for knee rail PE160 1
0190385 |Z-support 20cm for knee rail 1
0428100 |angle support 10x14cm 1
7110035 |hexagon-head tap bolt M10x35 galv 2
7112030 |hexagon-head bolt M12x30 galv. 1
8210500 |self locking nylon nut M10 galv. 2
8212500 |self locking nylon nut M12 galv. 1
8310100 |washer M10 (10x21x2) 1

knee rail support 20cm for PE160, cpl.

spinder ..

DAIRY HOUSING CONCEPTS Date:

Number:

0190386-0

mm

2-10-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M 7110035 blad nr. 1:2

8310100
8210500

7110035 View A
8210500

0190362

Not included crossing
mounting wooden plank ca. 31
0190355 ™ o
e/° ° : 8 A A
S O
;1215238 I Floor anchor M12x110
275

Not included wooden plank
(Thickness advice: min. 30 mm)

Order-nr. Description Number

0190362 |mounting clip for knee rail PE160 4

0190385 |Z-support 20cm for knee rail

0428100 |angle support 10x14cm

7110035 |hexagon-head tap bolt M10x35 galv

7112030 |hexagon-head bolt M12x30 galv.

8210500 |self locking nylon nut M10 galv.

8212500 |self locking nylon nut M12 galv.

N I N e I SN e T I SN I N

8310100 |washer M10 (10x21x2)

knee rail support 20cm for PE160, cpl.

Number: 0190386-A

spinder .. .

DAIRY HOUSING CONCEPTS Date: 27-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

blad nr. 2:2

- Side with two holes @13 mm mounting on the concrete.

- kneerail support for PE @160mm mount to the rear hole @11
( hole with distance 20 mm of the front side as shown).

- Kneerail support has a pitch of 90 mm.
the front hole of the support ends in the slotted hole.

- Mount the angle support with the long edge (144 mm) to the
kneerail.

Mounting angle support in first hole (see drawing).

knee rail support 20cm for PE160, cpl.

Number: 0190386-A
spinder .. .
Date: 27-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




m

buckle for retaining belt

spinder

DAIRY HOUSING CONCEPTS

Number: 0190415-A
Unit: mm
Date: 11-11-2019

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




m

7110025

8210500

Item-nr. |Description Number
0190421 |belt clamp for 48mm / 60mm 1
7110025 |hexagon-head tap bolt M10x25 galv 2
8210500 |self locking nylon nut M10 galv. 2
belt clamp for retaining belt 50mm
I Number: 0190420-0
S p I l . e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 18-10-2016

Aan de gegevens op deze tekening

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.

unnen geen rechten worden ontleend.




]

8210500

0456086

Item-nr. |Description Number
0190421 |belt clamp for 48mm / 60mm 2
0456086 |[threaded strap M10/60x90mm galv. 2
8210500 |self locking nylon nut M10 galv. 4

belt clamp for 60mm tubing, complete

spinder .

Number:

0190425-0

mm

DAIRY HOUSING CONCEPTS Date:

18-10-2016

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




0457251

0115503

8210500

Item-nr. |Description Number
0115503 [foot clamp Cosmos top 2" 1
0457251 |threaded strap M10/76x105 mm galv. 2
8210500 |self locking nylon nut M10 galv. 4

belt clamp for 76émm tubing, complete

spinder

RY HOUSING CONCEPTS

Number: 0190430-0
Unit: mm
Date: 12-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




m

7310090

8210500

Order-nr. Description Number
0190441 |U-clip 60mm 1
7310090 |coach bolt M10x90 galv. 1
8210500 |self locking nylon nut M10 galv. 1

U-clip 60mm with coachbolt and nut

d Number: 0190440-0
Spll l er Unit: mm
DAIRY HOUSING CONCEPTS Date: 17-11-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.

Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




0455076
8210500

0190505

©
i

Order-nr. Description Number
0190505 |clamp for shoulder rail raiser 10cm 1
0455076 |threaded strap M10/48x75mm galv. 2
8210500 |self locking nylon nut M10 galv. 4

shoulder bar raiser 10cm,complete

d Number: 0190500-0
Spll l er Unit: mm
DAIRY HOUSING CONCEPTS Date: 11-8-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




7110060

8210500

®

0424015

Order-nr. Description Number
0424015 |end coupling for 48mm 1
7110060 |hexagon-head bolt M10x60 galv. 1
8210500 |self locking nylon nut M10 galv. 1
end coupling for waved neck bar
l Number: 0191155-0
s p I I l e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 18-11-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
eze tekening kunnen geen rechten worden ontleend.

Aan de gegevens op




7110060

8210500

b

L 0424215

Order-nr. Description Number
0424215 |end coupling for 48mm, extended 1
7110060 |hexagon-head bolt M10x60 galv. 1
8210500 |self locking nylon nut M10 galv. 1
end coupling for waved neck bar
Number: 0191157-0
splncler o |
DAIRY HOUSING CONCEPTS Date: 18-11-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.

Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

8210400

8310130

8310410

7310075

Item-nr. |Description Number
0192101 |coupling tube waved neck bar 1
7310075 |coach bolt M10x75 galv. 2
8310130 |washer M10 (10x40x1.5) 2
8310410 |saddle ring 57x10 r20 black plastic 2
8210400 |self locking capped nut M10 galv. 2
connecting kit waved neckbar cpl.
Number: 0192100-0
spinder .. -
DAIRY HOUSING CONCEPTS Date: 6-7-2017

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




]

-
T

|

|

|

|

Typ mark
® 110cm  Yellow
®® 112,5 cm Blue
elele) 115cm Red
©eeee 120cm  Green
eeeee® 125cm Purple

eeeeee® 131 cm White

[

Item-nr. |Description A B
0192110 |waved neck bar 2x110cm incl. mounting parts 1100 0192111
0192112 |waved neck bar 2x112,5cm incl. mounting parts 1125 0192113
0192115 |waved neck bar 2x115cm incl. mounting parts 1150 0192116
0192120 |waved neck bar 2x120cm incl. mounting parts 1200 0192121
0192125 |waved neck bar 2x125cm incl. mounting parts 1250 0192126
0192131 |waved neck bar 2x131cm incl. mounting parts 1310 0192132
’@
D AN
C
detail C(1:5)
% 7310075
- 0192101 Item-nr. |Description Number
% 8310410 0192101 |coupling tube waved neck bar 1
Y/ 8310130 7310075 |coach bolt M10x75 galv. 2
R 8210400 8210400 |self locking capped nut M10 galv. 2
\@@ 8310130 |washer M10 (10x40x1.5) 2
8310410 |saddle ring 57x10 r20 black plastic 2
B tube waved neck bar 1
waved neck bar incl. mounting parts
l Number: 01921xx-0
S p I I l e r Unit: mm
DAIRY HOUSING CONCEPTS Date: 14-12-2020

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

0192151

7310075 %

detail P (1 : 4)

0192101

8310410
(( @é 2& 8310130
@%EZE 8210400

Order-nr.

Description

Number

0192101

coupling tube waved neck bar

1

0192151

tube starting wave neck bar Next 50cm

7310075

coach bolt M10x75 galv.

8310410

saddle ring 57x10 r20 black plastic

8310130

washer M10 (10x40x1.5)

8210400

self locking capped nut M10 galv.

1
2
2
2
2

starting wave neck bar, complete - 50cm

spinder ..

DAIRY HOUSING CONCEPTS

Number: 0192150-0
mm
Date: 6-7-2017

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




2228/2278/2328/2428/2528/2648

1100/1125/1150/1200/1250/1310

ca. 1300*

©

@O

@O
[olelelele]
PEOEE®
PG

|
I

‘ L

|

ca. 250

tube 60mm

*Dimensions depending on age and breed

Type mark

110cm  Yellow
112,5cm Blue
115cm Red
120cm  Green
125cm  Purple
131 cm  White

detail A

waved neck bar

spinder

Number: 01921xx-A
Unit: mm
Date: 14-12-2020

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

7110050

Order-nr. Description Number
0110503 (filling ring PROFIT cows/heifers 40 mm 1
0408006 |sd-strap 48mm 2
0416015 |intermediate part, three-part par.clamp 1
7110050 |hexagon-head bolt M10x50 galv. 4
lock to the backside freestall divider

Number: 0318660-0
splncler Uit m
DAIRY HOUSING CONCEPTS Date: 1_’]2_2015

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.
No rights can be derived from this drawing.




m

0412131

0318666

2

7110070
8210400

Order-nr.

Description

Number

0110503

filling ring PROFIT cows/heifers 40 mm

1

0318666

tube 48mm x 1400mm

0408006

sd-strap 48mm

0412131

plate for T-clamp 48x60mm

0416015

intermediate part, three-part par.clamp

7110040

hexagon-head tap bolt M10x40 galv

7110050

hexagon-head bolt M10x50 galv.

7110070

hexagon-head bolt M10x70 galv.

8210400

self locking capped nut M10 galv.

NINININIRPR|BAIN|P

lockingpoint frontside Comfort

spinder .

Number:

0318665-0

mm

RY HOUSING CONCEPTS Date:

1-12-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

7110050

48mm tube

7110040

7110050

60mm tube

7110050

Order-nr. Description Number

0110503 ffilling ring PROFIT cows/heifers 40 mm 1

0408005 |cross plate for cross clamp

0408006 |sd-strap 48mm

1
2
7110040 |hexagon-head tap bolt M10x40 galv 2
7110050 |hexagon-head bolt M10x50 galv. 4

lock to horizontal bar 48 or 60 mm

Number: 0318670-0
Spll‘\dC—"l‘ onit -
DAIRY HOUSING CONCEPTS Date: 1-12-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

48mm tube

7110050

7110040

60mm tube

7110050

Order-nr. Description Number
0110503 (filling ring PROFIT cows/heifers 40 mm 1
0408006 |sd-strap 48mm 2
0416015 |intermediate part, three-part par.clamp 1
7110040 |hexagon-head tap bolt M10x40 galv 2
7110050 |hexagon-head bolt M10x50 galv. 4
lock to vertical bar 48 or 60 mm

Number: 0318671-0
spinder ..
DAIRY HOUSING CONCEPTS Date: 1-12-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




M

0408006

7110040

0318666

Order-nr. Description Number
0110503 ffilling ring PROFIT cows/heifers 40 mm 1
0318666 [tube 48mm x 1400mm 1
0408005 |cross plate for cross clamp 2
0408006 |sd-strap 48mm 6
0416015 |intermediate part, three-part par.clamp 1
7110040 |hexagon-head tap bolt M10x40 galv 6
7110050 |hexagon-head bolt M10x50 galv. 6
lock to the frontside Frisia-P divider

Number: 0318675-0

spinder ... -
DAIRY HOUSING CONCEPTS Date: 1-12-2015

Tekening blijft ons eigendom en mag niet gekopieerd, aan derden getoond of op andere wijze worden gebruikt.
Aan de gegevens op deze tekening kunnen geen rechten worden ontleend.




